OOy VLS

[Time: 3 Hours]

Note: 1) Question ONE is compulsory

4) Assume suitable data, if required
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Av > 4000 V/V , Vbp

SR > 10V/ps, 60° phase margin,

ICMR =-1.125V to 2V, Paiss <2.5mW
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Voltage Gain and Power Dissipation
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Q1) Answer the following questions:

a)

b)
¢)

d)

@0190')"'03 (3 Hours)

N.B. (1) Question No. 1 is compulsory. S
(2) Attempt any three questions from rem&mmg

Define the following terms: Tool Path, Tool Trygb ( ;y

and Accuracy.

Define robot kinematic parameters. -

What are Generalised Voronoi Dlagrams ¢ QVD) aq ﬂlen; %SE
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Explain perspective transformation and {t&;rélev i
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Q2)a) Explain significance and use of DH@Igbqﬂxm beyelgp :

SCARA robot - 2 \‘ & ‘_“\‘ QA

Q3) a) Write a brief note on Robot Elassjtﬁcatmrr
b) Develop the Inverse Klnemﬁtgp sélut;gmfbs »aftw
Vi, &4

Q4) a) Explain robot p:ck ‘anﬁapilace Qpet;am :
b) Explain four ﬁmdambnta{«o erations for mergifig’ af\ﬁ'gmevlé
general link coorqute\traﬂ’sﬁmnatlommamﬁl‘fof m&ﬁﬁ A

Q6)
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(b)\W ave ﬂqnf planner:
(c) Cartesian: ‘space:traj; Qg:torx
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